Algebra 2
Ch.2 Handout 2.2

Linear Equations



alg. 2 handout 2.2 template (day 1).notebook September 28, 2015

**Slope 1s used to describe the measurement of the steepness of a
straight line.

**Slope 1s the rate of change from one point to the next point on a

line.
- o. \\near ?Csu\a—*?l).{\ s\op e remains Conslowtt

**]t tells how quickly a line is rising or falling.

Zero slope : ~a line that is horizontal
Undefined slope a line that 1s vertical
(no slope)
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Example:

The Building code for using asphalt shingles
on roofs states that minimum pitch must be
a rise of 4" for every 12" of horizontal
distance (run) covered. Asphalt shinglesare
not to be use on roofs that have very little =
steepness. Builders check to see if the pitch
(slope) of the roofis or 4:12 or 4 or4to 12

before using asphalt shingles. 12 Builders need to know the pitch of

a roof to determine which type of
shingle will be appropriate for the
roof.
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Positive slope a line that rises from left to right

Negative slope a line that falls from left to right
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Slope

(xlayl ------- IJ:(XL"G')
> X

find the ordered pair
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Slope

(%5, 7,
yz-vy,

Find the vertical distance

(x1>J’1 i (x.z,yl)
X24%,

Find the horizontal distance
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y Slope

(x2,y2

()/z - J’1) vertical distance (rise)

(xl 1V __-f---u (X2 ) yl )

horizontal distance (run)

vertical change rise

Slope (m) =

horizontal change  run

Gwen Z = U= S\ope
Fnd o<
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6. Find the slope of the line through the two points given

X, v, ) PR X\ M, X2 Mz
a) (-2.7)and(8,-6)  b) (-2,-2) and(4,2)
MY -M - Yz -\
o= Xz'xl\ m Xz =X,
_ -L-7 _2-¢2> _ 4
M=% M=""cy

-13
W”‘TE [m 3
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6. Find the slope of the line through the two points giver

¥ v X Xa deo
c) (3,3)and (-4,3) d) (2, 5) and (2, -4)
M= U2 - ) e -
X;Xé - M——)-(L“ )Q;
- — —_— —— — - 6_ -
NSRS m=42-"3= ¢
S M= O S = undehned

(\f\bﬂ- ‘\‘q.or\‘\'l«\ (\4\&3 ( vk o\ (‘ I\L>
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To find the slope of a given line you need to solve
the equation fory.

X Wi Te 10 Slope - iNttreapet forr
Find the slope of the equation:

—Ix+2y=3

+ % 1T IX
Zu="1X+ &
2 - >

4= S X+

e 7|

10
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Find the slope of the equation:

3% -3¢ -\
*\l\_.a-."BY + L _ - -
1= —1z -z g* b = —3—
4Ly _ L
i X 2 “Uy L = W

3=
\N\‘— ‘ﬁ\ D\:_L(J

11



alg. 2 handout 2.2 template (day 1).notebook
Find the slope of the equation:

1
X =) y=-=

(vev e ol Ui ) 2 )
(horizonkd Line )

Lw\z \mdcf'mw\\ [L\—_ o&

September 28, 2015
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5. The equationinx + 53 = 40 how you can give $.40 change if you have only

dimes and nickels. The variable x is the number of dimes, and y is the number of nickel:

Graph the equation. Explain what the x- and y- intercepts represent. Describe the
domain and the range. C‘“"é ¢ d“ we > ' = # ol n) &\4:.(\3
( X, v\

X=H £ dimnes

Lindependant vas ¢l~|° )

= 4 o€ nicke\s
(1 pendant Variaeb)

x-\n-\-‘.(q. ) %’—4:(2,'—13

VeI e

DX+ ST 4O IOX+ Su=40 <=
DX +9(0D=4HD [o(2)TSy=¢0
/0)< :{,0 A0 15y = 4O (45
=20 x-int (4,0 adrmes
&f\'\‘* 9 5\\;'2 4 ’ —b Om’&\u-'b
/ox-i-‘*?v\-‘—lb W-L ~* (O, * o Aitvven
10(53"'5'\4 q0 ¥ nickels
Sy~ b'.V_O,"\_.X

W g RnCo, =)
13
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In 2003, federal vehicle emission standards allowed 4 hydrocarbons
released per mile driven. By 2007, the standards allowed only 2

hydrocarbons per mile. What was the rate of change from 2003 to

D
20077 '_[ndcj:x“hr\-l Dq:c?\dani' (slope

4 Uea v ) hqdnx«rb'msD
(200>, 4) (2051, 2)
I M | - Sl - =2

-—

M= K2 - X, -aw-z:"zoo“s" 4 - 2

| Rk ofchange (my="% \

14
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Assignment

Pgs 67-70 11-19 odds, 33-37 odds,
43-65 odds

September 28, 2015
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